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QUESTION 1

A log filter of log severity DEBUG pppPacket ATM 4/3.66 is configured within the category of pppPacket. Which
configuration command removes this specific log filter?

A. no log severity pppPacket

B. no log severity debug pppPacket

C. no log severity pppPacket atm 4/3.66
D. no log severity debug pppPacket 4/3.66

Correct Answer: C

QUESTION 2

A configuration profile contains the following commands: pppoe sessions 2 ppp authentication chap ip access-routes
Which two types of dynamic interfaces result from this configuration? (Choose two.)

A. routed 1483 interfaces

B. bridged 1483 interfaces

C. 1 PPPoA dynamic interface
D. 2 PPPoE dynamic interfaces

Correct Answer: CD

QUESTION 3

Which CLI command shows if the router has formed any 1S-IS adjacencies?
A. show cIns neighbor

B. show isis neighbor

C. show clIns adjacency

D. show isis adjacency

Correct Answer: A

QUESTION 4
Which three are correct about L2TP tunnel selection algorithms? (Choose three.)

A. Failover between preference levels is the default.
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B. One algothrim is failover within a preference level.
C. Failover across all preference levels is the default.
D. One algothrim is failover between preference levels.
E. One algothrim is failover across all preference levels.

Correct Answer: ABD

QUESTION 5
Which set of configuration commands configures MBGP on the ERX Edge Router?

A. router bgp 100 neighbor 192.168.10.1 remote-as 200 address-family ipv4 multicast neighbor 192.168.10.1 next-hop-
self

B. router bgp 100 neighbor 192.168.10.1 remote-as 200 address-family vpnv4 multicast neighbor 192.168.10.1 activate
C. router bgp 100 neighbor 192.168.10.1 remote-as 200 address-family ipv4 unicast neighbor 192.168.10.1 active
D. router bgp 100 neighbor 192.168.10.1 remote-as 200 address-family ipv4 multicast neighbor 192.168.10.1 activate

Correct Answer: D

QUESTION 6

Which TCP port does LDP use for its protocol communications?
A. 464

B. 466

C. 644

D. 646

Correct Answer: D

QUESTION 7

When configuring the router to support dynamic PPPOE interfaces, which command string controls the number of
sessions supported?

A. autoconfig ppp
B. ppp authentication
C. encapsulation pppoe

D. profile pppoe dynamic
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Correct Answer: D

QUESTION 8

Which configuration is correct for a DHCP Relay Proxy?

A. set dhcp relay 1.1.1.1 set dhcp relay 2.2.2.2 set dhcp relay

B. set dhcp relay proxy set dhcp relay 1.1.1.1 set dhcp relay 2.2.2.2
C. setdhcp relay 1.1.1.1 proxy set dhcp relay 2.2.2.2

D. set dhcp relay 1.1.1.1 set dhcp relay 2.2.2.2 proxy

Correct Answer: C

QUESTION 9

Two Level 2 routers are exchanging Hello packets with different Area IDs. What occurs between these routers?
A. An Adjacency is formed.

B. No IS-IS PDUs are sent.

C. An Adjacency does not form.

D. An Adjacency forms but traffic is not forwarded.

Correct Answer: A

QUESTION 10
Which set of configuration commands configures an ATM PVC to support only PPPoE service?

A. erxl:vr2(config)# profile ip-ppp-pppoe-info erx1:vr2(config-profile)#ip access-route erx1:vr2(config-profile)#ppp auth
chap erx1:vr2(config-profile)#pppoe sessions 5 erx1:vr2(config-profile)#exit erx1:vr2(config)#interface atm 5/1.13
erx1:vr2(config-subif)#tm pvc 13 0 113 aal5autoconfig erx1:vr2(config-subif)#profile ppp ip-ppp-pppoe-info
erx1:vr2(config-subif)y#auto-configure pppoe erx1:vr2(config-subif)#auto-configure ppp

B. erxl:vr2(config)# profile ip-ppp-pppoe-info erx1:vr2(config-profile)#ip access-route erx1:vr2(config-profile)#ppp auth
chap erx1:vr2(config-profile)#pppoe sessions 5 erx1:vr2(config-profile)#exit erx1:vr2(config)#interface atm 5/1.13
erx1:vr2(config-subif)#atm pvc 13 0 113 aal5autoconfig erx1:vr2(config-subif)#profile ppp ip-ppp-pppoe-info

C. erxl:vr2(config)# profile ip-ppp-pppoe-info erx1:vr2(config-profile)#ip access-route erxl:vr2(config-profile)#ppp auth
chap erx1:vr2(config-profile)#pppoe sessions 5 erx1:vr2(config-profile)#exit erx1:vr2(config)#interface atm 5/1.13
erx1:vr2(config-subif)#atm pvc 13 0 113 aal5autoconfig erx1:vr2(config-subif)#profile pppoe ip-ppp-pppoe-info

erx1:vr2(config-subif)y#auto-configure pppoe

D. erx1:vr2(config)# profile ip-ppp-pppoe-info erxl:vr2(config-profile)#ip access-route erx1:vr2(config-profile)#ppp auth
chap erx1:vr2(config-profile)#pppoe sessions 5 erxl:vr2(config-profile)#exit erx1:vr2(config)#interface atm 5/1.13
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erxl:vr2(config-subif)#profile any ip-ppp-pppoe-info erx1:vr2(config-subif)#auto-configure pppoe erx1:vr2(config-
subif)#auto-configure ppp

Correct Answer: C

QUESTION 11

What are three methods to apply a L2TP Tunnel Switch Profile? (Choose three.)
A. aaa domain-map

B. radius attributes

C. tunnel groups

D. tunnel services profile

E. 12tp destination profile

Correct Answer. ABC

QUESTION 12

Which term describes a group of packets sharing common forwarding characteristics?
A. common forwarding class

B. forwarding equivalence class

C. equivalent class characteristics

D. forwarding class characteristics

Correct Answer: B

QUESTION 13

Where is OSPF authentication configured on the ERX Edge Router?
A. interface

B. OSPF area

C. virtual router

D. OSPF process

Correct Answer: A
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mE B

QUESTION 14

Which CLI command displays the status of a PPP over Ethernet subinterface?
A. show pppoe interface

B. show ppp int state up

C. show ip interface brief

D. show pppoe subinterface

Correct Answer: D

QUESTION 15

Router A has a priority of 64, Router B has a priority of 0, and Router C has a priority of 70. Router D now comes online
with a priority of 100. Which router is the DIS?

A. Router A
B. Router B
C. Router C
D. Router D

Correct Answer: D
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